%o/ d N d

Ratio to ATLAS

H*"} [pb/GeV]

=
<
[N

1072

1074

0.5

13000 GeV pp
L B B I

tt
N B B B L L e L B B
i ' ' T8
= ttHT (ATLAS semileptonic ttbar) =K
u 12
L |
A\l
B 1o
—
—
— - —m
[ [ | I
- 0--g 12
I \ Je
L A e ]
Y ~Q _
.’II \\\\
o AN -
- Bl
— NN o
L —w©
o
B 1M
—
B .=
X
— B ATLAS — .S,
— . <
—  --0O-- Herwig++ 2.7.1 default u —1e
— \\\ 1 C
— ---- Herwig 7.2.1 default g 1@
- 1 O
%
- 10
o
(@]
=l I I I I I I I A = b
— —2
1
i -0 o |
- ~G"'""""“:jjjj::::::::@ .
B
- g-g--m —~0.5
| 1 1 1 1 " | " 1 1 1 1 | " 1 1 1 " 1 " | " 1 " 1 " 1 " 1 " |
0 500 1000 1500 2000

Hr "} [GeV], N** =5



	Contents
	Page 1


